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ClassA.java

package packageA;

public class ClassA {
public void print () {
System.out.println ("This is classA in packageA.");

}
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public static void main(String[] args) {

ClassA classA = new ClassA();
classA.print();
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package weekb;
import packageA.ClassA;

public class week6 {
public static void main (String[] args) {

ClassA classA = new ClassA();
classA.print();
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Import packageA.*;
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classB.java

package packageB;

public class ClassA {
public void print () {
System.out.println ("This is ClassA in packageB");

}
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package weekb6;
public class week6 {
public static void main (String[] args) {
packageA.ClassA classA = new packageA.ClassA();
packageB.ClassA classB = new packageB.ClassA();

classA.print();
classB.print ()
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int Interger

char Character

byte Byte

short Short

boolean Boolean

long Long

float Float

double Double
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int num = Integer.parselnt("1000");

Il FEEE % SCFHNT 25

Strina num = Double.toStrina(123.456):

7 v R=20Z MM EF ¥ X b

7 v /R—20 Z ZF| A E ArrayList

package weekb6;
import java.util.ArraylList;

public class week6 {
public static void main (String[] args) {
ArrayList<Integer> arraylist = new ArraylList<Integer>();
for (int i=0;i<10;i++)arraylist.add (i) ;
for (int i :arraylist)System.out.println (i)
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package weekb;

public class week6 {
public static void main (String[] args) {
String str = null;
System.out.println(str.length());
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package weekb;

public class week6 {
public static void main(String[] args) {
String str = null;

//String str = "RaBI¥";
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try{

System.out.println(str.length());
}//catch THRE L 7223564 L 2 RF D L 2 T s <
catch (NullPointerException E) {
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finally{
System.out.println ("7 07 7 L%&HET");
}
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package w6;

import java.io.BufferedReader;
import java.io.IOException;
import java.io.InputStreamReader;

public class Week6 {

public static void main (String[] args) {
//System.in: F—KR—=F2bD AN % N4 b TRITIS

//InputStreamReader: 4 b T — X % L FICEHT 5
InputStreamReader isr = new InputStreamReader (System.in);
//BufferedReader: XFx# Ny 77 Vv 7 LTXFIE L CEAAL
BufferedReader br = new BufferedReader (isr);

try {

System.out.print ("input:");

String str = br.readLine();

System.out.println ("output:" + str);

}

catch (IOException e) {

System.out.println (e.getMessage());

}

}
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Week®6.java

package w6;

public class Process extends Thread{
//=NF ALy MU EZ 720wl Zrun A Y v FIZA—~"F 4 F (EF
%) 9%

public wvoid run () {
for(int i =0;1<10;i++) {

System.out.println(i);

try {
Thread.sleep(200);

} catch (InterruptedException e) {
// TODO Auto-generated catch block
e.printStackTrace () ;
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Sample Input and Output

Input: 2.3
Output: 4.6
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Sample Input and Output

Input:1+1
Output:2 (String[] args) {
°>ssl = new Process|();
PTOCESS process2 = new Process();

//start XY v FT, WHEZHHIKET 5
processl.start();
processZ.start();

Sample Input and Output2

Input: 2 * 3
Output:6
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